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Summary:
How to frame detection problem?

Regression?
● OK for one or a fixed number of objects (localization with sliding windows)
● Sliding windows is slow (especially when the number of objects too large)
● Number of objects unknown?

Classification?
● Need region-based method to propose bounding boxes (~2000 boxes, R-CNN)
● Still kind of slow (especially considering real-time detection)
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Strengths and Weaknesses (compared to the R-CNN family)

Strengths

● Fast
● Generalizes better (i.e. good at detecting 

objects in paintings)
● Less background false positives

Weaknesses

● Localization not as accurate
● Limited to B objects per grid (B=2 in 

paper/this presentation)




